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Section A: 14 marks (2 marks each)

Choose the correct answer and write its number in the
brackets provided.

1 7x5=
(1) 12
(2) 30
(3) 35
(4) 75 s ( )

2 3 groups of 5 is the same as

(1) 5+5+5

(2) 3+3+3

3) 5+5+5+5+5

(4) 5+3+5+3 ( )




We can put 16 balls equally into
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(1) 2 groups of 3

(2) 2 groupsof 6

(3) 4groupsof4 -

(4) 6groupsof4 (

A farmer bought 5 bags of potatoes. There were 10
potatoes in each bag. How many potatoes did he buy
altogether? ,

(1) 5
(2) 10
(3) 30
(4) 50 (

4 x 2 = + 3

(1) 8

(2) 12

(3) 24

(4) 42 (




6 1 ten 100_nes - x5

(1) 1
(2) 2
(3) 3
(4) 4

7 What is the missing number in the box?

N
C - C
C

9 -
* >

(1)
(2)
(3)
(4)

NWNDO

Section B: 14 marks (2 marks each)
Work out the following sums and write the answers in the

spaces provided.

8 S5x5 =

Ans:




9 Wirite a multiplication equation about the picture below.

R
PV

3 girls shared 18 sweets equally. How many sweets did
each girl get? - :

Ans:

11 Circle the flowers to show groups of 4. Write a division
equation.

LR EQ
PEEEEE




12

Ali bought some pizzas. He cut each pizza into 10 slices.
After cutting, he had 30 slices of pizzas. How many pizzas

did he buy?

13

A dog has 2 ears. How many ears do 7 dogs have?

Ans:

14

| am a two-digit number.

| am less than 20. o

I can be found in the multiplication tables of 2, 3 and 4.
What number am 1?

Ans:




Section C: 12 marks (4 marks each)

Do the following sums. Show your workings and statements
clearly.

15

Jane and her 2 sisters ate 9 strawberries each. How many
strawberries did they eat altogether?

They ate _Strawberries altogether.

16

Mrs Tan bought 4 boxes of erasers. There were 5 erasers
in each box.

(@) How many erasers did Mrs Tan buy altogether?

Mrs Tan bought erasers altogether.

(b) Mrs Tan gave the erasers equally to her two children.
How many erasers did each child get?

Each child got _erasers.

. LA



17 Kelly bought 2 trays of eggs. Each tray had 8 eggs.

(@) How many eggs did Kelly buy altogether?

Kelly bought : eggs altogether.

(b) Kelly put all the eggs equally into bowls of 4.
How many bowils did she use?

Kelly used bowis.

END OF PAPER

Please check your work carefully.







Class Test 2

Q1 Q2 Q3 Q4 Q5 Q6 Q7
3 1 1 2 3 2 3
Q8 12
Q9 15
Q10 o me
Seeveee
Ceeweve
LA A AL X B
AR )
Qi1 20 = 2 ’ = l 10
a1 t4x4 Bgroupsora
Q13 5x6 = 3tens
Q14 6
Q15 35+5=7
Each boy got 7 marbles.
Q16 (a) 9x5=45

Nina bought 45 flowers altogether.

(b) 45-5=40
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Nina had 40 flowers left.

Q17 (@) 10x4=40
Jana bought 40 oranges altogether.
(b) 40+5=8
Each friend got 8 oranges.
Revision Paper 1
Q1 Q2 Q3 Q4. Qs - Q6 Q7
3 2 4 4 3 4 4
+4 44 +4 44 +4 44
Q8 12,16, 20 , 24 , 28 , 32
Answer = 20
Q9 4x5=20
Q10 27 +3=9
Answer = 9
Qi1 30:5=2x | 3
Answer = 3
Q12 8x4=32
Answer = 32 stickers
Q13 5x4=20
20 =2tens

Answer = 2 tens
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Q14

Answer = 6

Q15 (a) 9x3=27
Mrs Goh bought 27 cookies altogether.
(b) 27 -15=12
Mrs Goh had 12 cookies left.
Q16 (a) 4+2=6
Jim bought 6 pencils and books each time
he went to the bookshop.
(b) 3x6=18
Jim bqu_ghtjg pencils and books in February.
Q17 (@ 40+:5=8
| Winnie used 8 boxes.
(b) 40 - 5 =35
Winnie sold §§ cakes altogether.
Revision Paper 2
Q1 Q2 E Q4 Q5 Q6 Q7 W
3 1 3 4 3 4 1
Qs 5x5=25
Answer = 25
Q9 3x5=15






Q10

Q11

Q12

Q13

Q14

Q15

Q16

Q17

18 +-3=6
Answer = 6 sweets
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124

3

30+10=3

Answer = 3 pizzas

7x2=14

Answer = 14 ears
12

3x9=27

They ate 27 strawberries altogether-.

(a) 4x5=20
Mrs Tan bought 20 erasers altogether.
(b) 20=2=10

Each child got 10 erasers.

(@) 2x8=16

Kelly bought 16 eggs altogether.
(b) 16+4=4

Kelly used 4 bowls.
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